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ntro to Factoring Quadrati

1. Find two numher: that sum to 8 and have a product u[ 12
—_— u@ 34
12 “T70 =3 “‘f

2.Tind two numbers that sum to 5 and have a product of i)

t
-t
3. Find two numbers that sum to 5 and have a product of 14 ==/ 7 2

IQ |l
4.Find two numbers that sum to -8 and have a product of 42 2 ‘Q -:Lyg. B .l}
— 4+ =

March 11, 2019, Monday

SAMPLE ITEMS ’lv'b s '5
5. Find two numbers that sum to 16 and have a product of 15
1. Inwhich expression is the ioficient of the a term -12 .1, -.;
= 6. Find two numbers that sum to -4 and have a product of -21 § -~ q
. 3% +{dh-1 1--5b l(.-:u
. -0 +5n+4 \/ 7. Find two numbers that sum d have a product of :56_~ ? Z }:’, ?}'y ';;
. 2n{Gh+5 ) 1,223 -1
. 4n?in-5 8. Find two numbers that sum to -14 and have a product of 40 =H_,~| Q
1-°25

9. Find two numbers that sum to 0 and have a product of -25 7,5%-\ 23

55
6\&9} 10. Find two numbers that sum mﬂandhaveapmduu of 16 _ QHi -5's
P

a
2. The exprmln used to calculate the here s js the side length of the 11. Multiply the following: )
square. What does the expression (8x)? repre: - (=
ié:“jgx) e ) “’*3 9 b (PR BLK: -SI
A. the area of a square with a side length of 8 lg 7" Z =- l‘[

i the area of a square with aside lengthof 16 ) = 8x X243+ lD)( + \X X% 2x 3 - 1Y
e gé g
\

Notice: What is the
product of the

Notice: Whatis the
sum of the constaats

Notice: What is the
sum of the constants product of the

in cach

P

above? bingmial ghove?
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Unit 30 Day 2 Notes _Factoring Trinomials when a = 1 GSE Algebra | Unit 3A - Factoring Quadratics

MCC9-12.A SSE.3a: | can factor a quadratic expression fo reveal the zeroes of fhe function it defines. Name Date

Now lef's factor trinomiclsL (3 ferms Factoring Trinomials (ax2+ bx + ¢)
« Remember. we“ Faclor ach Hnonial cgppicll, il - #8-10 ke ol GCF 14
Example 1: X + 5x + 6 sl ity 2 4
s5x+ 1 X bx-14 - 2 X224
1 Is'heveaf&’;f S\re’: :’Zé o - > 2 ( y
To factor a frinomial, it breaks down info a product of binomials (2 ferms each) ( X— 7 )( X+ 2) oy X Ll XX"" b) %)
L4 Whichpnirnddﬁnbes"(. ,’(‘\i) l)(-'. Z)( X —:;) *
—+
by o prgreT s 6- 5, |
Answer(x + A)x + D) (XJ'(I)XX_[/) i

Now you fry! + ?‘
1712 T 2.0+ 126+ 20 . —+
\3>< si(;}zf} Z) ) &) 6\x +7x 18 . )—-
X 3Xx+) o \I\JQ\K\H ((X*llf yf[ A r%ﬁ Xplx 9 0’(_’3 9

30812 -I’.'," 4. X+ 6x+9
-Izlu ( P}-\ ﬁ i T i A GCF - , *
(X*’l}(}\«&éﬁi 3 343, G &m+goxx+£95 t

P

What are the factors of 6 (what pairs multiply to 6)?.
actors of 6 -

4 A

5 lex{)Q 51 P axx +ox+9q 3><5

(Y+3l)( 4 ) -|'>.‘1L3< (x-e) (X“‘"; o %Xw)ff?x*

7.0 - 6x+8 é 8. x’—gxxcjz- ~ \%

(oY) \(q (XD " ;7%<
CEYR S

2
6 Ctroxcd) 1757“(1%3 ) | |

3) 70 = 632% - 2. DRCREE

Ix(10x3x 2 - b) WAax>-Y)

Factor cxch completl. 4 6*-b ~(c\»b‘i°~— ) 15) 3720530 1626+ 186-20
s
@@t 5q
\ 6-21p-D - ( q)(w %)
g -
iy A%

?
(X+1XX-4) 'q"' (m+|7(M )

#
9) ' =8n+16 3 0) G~2r =80, 'L 19) 4b* - 266+ 36 20) 207 +38p + 14
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»




wk10 alg 2nd.notebook

March 14, 2019

March 12, 2019, Tuesday

1. What is the product of 7x - 4 ggf8x

( X- LY Sx+5)

S5 A
2

Yy 4 2
5 . Q* -L* = (a+blo-b)
lp q "‘- #~ . Factor by GCF: Factor by DOTS (Difference of 2 Squares)
L v -
'5313 + 481;2 g 9—4x? = as?

£333-bbb+222225 b b(s) (2x)* b=

L(_L,Q-qu-l- g ) -q 21 (3+2-XX3 2)0

9m? —27m+9m? = 4x% - 16 = Az2x

B3m m=- 333+ 33y, 3;3* exfF-|{)y” b=\
2 3%

(=34 m®) (2x+\4X2k- 1)

Factor by a = 1 (Factors of c that add to b) Factor by a # 1 (Bottoms Up Method)

42—1‘§f+¥6:= 3 9x% +27x+8=
SR UL ) 70X
2x? +2x — 4 = —+ \-S\?}Q S20x2 —38x +12 =
2y N/ LA

D0 xe)-INE T
* Ny

(-2

(’l}'actor bya#1 (Bon“?n’-l;' Up Mgt_h__m})m & chol
m 12
2427x + ‘5
24 23x+32
(x+;;x x+24)7 3>€L{
X *+&) R
l3x+\) X+ 1*512 9

st T -
8( xE-12x+0 235 X
A(X-HXx- I;ﬂ)"“_s—a{ 140 34D

9 ~[-4,0 -3-20
ALK AR B) 225 - [9
a(Sx 2% 24-3) =30 415

March 14, 2019, Thursday

¢ Consider the expression 3n? 4 + 2.

a. What s the coefficient of n?

!

¢ Factor the exnressmn_& + 14x §

66 587 i n)@;
(\*““‘Wﬂ*? PN
Ax+g Xx—-
&(Zxﬂ?ﬂsx\
)

March 13, 2019, Wednesday

1. Which expression is equivalent to 1zu= 64y°2

2 "
b ot o (llx) GF 5 O%b=(arbda-B

oTS

C. (11x+ 8y)(11x +8y)

@ (11x + 8y)(11x - 8y) =1 )X
b3 Y R
‘\G‘" — 1D 2¢
2. What i 5ammmnfa¢1mmnheexpressl 24x% + 16x + 1447
" Fogau ik Iy
h@(‘ -3 4 b g
XS( ~2)3 + 9) z‘L 1:“'; 2@
2223, 1213 475329 L}?
3. Whicl hm‘ihese 'shows the complef "TQT[ atic +M6 —9xy - 427 *z u?” %
it e caay 3(7“ Y“ 3"7 U 87 . =
s Y-y 5 1

Quiz |- lF\ndHhCGCF
3l Pick 30V 3(53*%&‘@2

1-10picS 3(xy+awv—4>

gebra 1: dy Guide Name:

1 2x-8 2 155 -3 3.0y -y + Xy
T 3 3

Zl(;.q) 3(5x-y) Y UE-F 2y

4@ 14x-15 5 w-12x+36

(74,\5309 (X‘“XH;) X (A':/‘)j(b#) b%

(X-Y
- ¥ ‘""%w% Ufl\\ws\o\ %
Factor out the differ bﬁ,‘.;, at-br={ -thn«-k\ ¢
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3(n%-29) (h9Yh-R) 21&)—;9%1 )

- (57 2
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= Sx-b X,‘({‘:;{;‘(}% ,X @ (-5
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19 Which.

5% +20¢

20,
correctly factors out the factorization of
greatest common factor of #-2x-247

20 Wi
make x* + bx 20
factorable?

@5@1“) 2) (- —6)
5x(x* 1 4) b) (x—2)(x+12) by 4
T 50 +4x) @G+ - 6) 9 10
& Sx( +4) D (- 4)x+6) bE
22, Thearea of arectangle s | 23. Determine whether 24 When multipiied, which of
3¢7 — 10x + 7. The width is x? — 36 isadifference of two | the following gives you x7 +
3¢ 7.Whatisthe lengthof | squares.Ifso,choose the -3
the rectangle? correct factorization.
@ (o 2 No @ -1
b) x-7) b) Yes; (x—6) B) (x-3)x+1)
3 6+ @Y oo Eon s
1) A Yes (x4 6)* & (-3 1)

27, T

2-1
1
x+2

6.
we factor?

C&OQQ&FO\“G g\(XL\- I(A

expression that would be
factored using bothGCF and.
rence of perfect squares.

- 29

Bx-2
,Prr,  Eraacysgoresion cumpleiel
o 7%2 +49 2 2 _1x 32 +21x
A 5. ¥-100 b ov-4
N

March 14, 2019

f. w121 4 -1 b, 49w -25

0. 25 -9 hi 2 -8 2. 2 98
i 142 o122 15 2 13xs 0
16 2 4 38x-72 1722 4 10x-11 8 2 14124
o, % +8x+12 20. % + 5524 P % +7x-30
22 2 354 23. % -x-T2 R4, ¥ +17x+16
5. % +6x-40 6. % +21x+98 b7, % +200484
P8, ¥ +2x-63 29. % +185+77 0. ¥ - 2635
Bl 5 4ax-12 B2 2 -5x-7 3. 2% 41354 15
4. 32 756 5. 32 +16x+21 6. o 415
7. 4 $12x+9 8. 2’ _9x+4 9. 1057 ~17x+3
0. 22 553 e sxo6 f2 22 10x-28

March 15, 2019, Friday

Factor completely, if possible...

2% +4x-30=
X'+ 5+ 4=
Xoyt=

Factor the comm on factor out of each expression. Circle your final answer.

1) 205 + 82

Factor each completely.

3) 25p°—4

5) n’-3n—4

7y 3%+ 197 -40

9) 5a*+6a—8

2) 401% + 401 + 56

4 a-3a-28
6 -1
8) 9x? —38x+8

10) 9% —46n+5

19. Which of the following
correctly factors out the
greatest common factor of
52 +20x7

a) 5(x% +4)
b) 5x(x* +4)
) 5(x +4x)
d) Sx(x* + 4x)

20.What is the correct
factorization of
xF-2x - 247

a) (x—4)(x—6)
b) G-2)(x+12)
O G+Hx—6)
d) (x—4)(x+6)

21.Which value of bwould
ake x* +
factorable?

2 8
b) 4
o 10
dy 2

22. The area of a rectangle is
32% — 10x + 7. The width is
3x — 7. What s the length of
the rectangle?

a) (x+1)
b) (x-7)
c) (x+3)
d) (x-1)

23.Determine whether
x* — 361is a difference of two
squares. If so. choose the
correct factorization.

a) No

b) Yes; (x — 6)*

) Yes; (x-6Ux+6)
d) Yes; (x + 6)°

24.When multiplied, which of
the following gives youx? +
-3

a) (x+3x-1)
) (x-3Ax+1)
©) (x+3x+1)
) (x-3x-1)

25.Which expression is a factor
of 2x* = x — 17

a) 2x-1
b) 2x+1
o x+2
4 x-2

26. What type of equations do
we factor?

27.Write an example of an
expression that would be
factored using bothGCF and
difference of perfect squares.
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